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Instructions for Candidates

1. Itis an Open Book Examination
Attempt any Four Questions. All Questions carry equal marks.

3. Answers may be written in English or Hindi, but the same medium should be used
throughout the paper.

4.  Use of Simple Calculator is allowed.

Mr.X is considering investment in security R which is currently traded at Rs. 24 per share. There is
an uncertainty of the return and following information is gathered in this respect under different
economic condition:

Economic Condition | Probability | Return (Rs.) | Year-end Price (Rs.)
Good 0.40 4.40 35
Normal 0.30 4.00 27
Dull 0.30 3.00 20

He is also considering investment in security S whose details are given below:

Expected Return 17%
Risk (Standard Deviation) 7%

If the Coefficient of Correlation between R and S is 0.8 and a portfolio of 30% of R and 70% of S is
formed. Find out Expected Return of the Portfolio and Risk of the portfolio.

Differentiate between Callable Bond and Putable Bond.
Following information is available in respect of a bond:

Face Value Rs. 10,000

Coupon Rate 10%

Time to Maturity 10 years

Market Price Rs.11500

Callable in 6 years | Rs. 11,000

Find out the YTM and YTC of the bond



3.

A technical analysis is primarily a trend analysis. Comment

The following information is available for ABC Ltd. for the year 2019-20

Annual Turnover Rs. 4,00,00,000

Profit 25%

Equity Share Capital (FV=100) | Rs. 80,00,000

Capital Reserve Rs. 15,00,000

12% Preference Share Capital Rs. 10,00,000

13% Long Term Loan Rs. 20,00,000
12% Debentures Rs. 15,00,000
Tax Rate 35%
Dividend Payout Ratio 60%

Price Earning Ratio 8

Find Earning Per Share, Dividend Per Share, Market Price of Equity Share, Earning Yield and
Dividend Yield.

‘Option trading is a zero sum game.’ Explain the statement with the help of an example in case of a
call option.

An investor simultaneously invested in the cash market and futures market. He bought 1000 shares
of R Ltd.@Rs. 325 in the cash market and sold 850 shares of R Ltd. @ 312 each in the futures
market. After a week, the share price and futures price increased by 7% and 6% respectively. The
investor squared off his position in both the markets. Calculate his net profit or loss.

Markowitz model was the first formal attempt to quantify the risk of the portfolio and develop a
methodology for determining the optimal portfolio. Explain.

The current market value of the investments , expenses along with number of units issued by
Balanced Mutual fund are given below. Calculate the NAV per unit.

Equity Shares (Current Market Value) | Rs. 35,00,000
Bonds and Debentures (Unlisted) Rs. 11,00,000
Government Securities (Quoted) Rs. 20,00,000
Cash and Bank Balance Rs. 6,25,000
Expenses incurred Rs. 1,25,000
No. of units outstanding 2,50,000




“Legislative and regulatory action over the past few years has led to the growth of shareholders
activism in India, which means Investors protection and Education, both are prerequisite for the
development of an efficient capital market.” Discuss. Also differentiate between Money Market and
Capital Market.
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